
 

Cipher Challenge 2: 

e intercepted the following unencrypted snippet before the transmission dissolved into a 
long string of numbers. We’re at a loss at how to proceed. Any help you can provide would 
be greatly appreciated. 

  

sorry i missed your last Interchange.  i will use our agreed upon  American Code to deliver the rest of the 
Information.  Standard Additive keyword will be used.  [CAPS ONLY] 

 

148 154 155 172 145 152 152 157 154 159 
174 160 148 145 159 167 172 169 163 148 
154 155 172 145 152 152 169 154 173 173 
149 157 148 157 150 174 169 161 151 145 
149 154 174 163 154 140 148 156 150 157 
159 148 154 155 172 145 152 152 146 167 
163 168 147 153 140 149 158 174 159 153 
142 146 145 151 166 155 143 144 135 145 
168 159 148 154 155 172 145 152 152 167 
157 159 172 145 152 140 145 161 166 174 
148 138 134 145 152 165 175 156 135 137 
148 154 155 172 145 152 152 145 169 174 
162 145 136 137 158 169 172 155 152 159 
147 159 171 155 166 145 153 156 
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